



B.B.A. DEGREE EXAMINATION – JUNE 2008.

Second Year

QUANTITATIVE METHODS

Time : 3 hours
Maximum  marks : 75

Answer for 5 marks questions should not 
exceed 2 pages.

Answer for 15 marks questions should not 
exceed 5 pages.

PART A — (3 ( 5 = 15 marks)

Answer any THREE questions.

1. Discuss the various phases in solving an Operations Research Problem.

ö\¯À•øÓ vmh ÂÍUP¨ ¤µa\øÚø¯ wºÄ Põq® £À÷ÁÖ £iPøÍ ÂÁ›.

2. Solve the following graphically :
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R÷Ç EÒÍ PnUøP Áøµ£h® ‰»® wºÄ Põs.

Maximize 
[image: image3.wmf]2

1

6

4

x

x

z

+

=


Subject to  
[image: image4.wmf].

0

,

200

5

180

3

360

6

4

2

1

2

1

2

1

³

£

£

£

+

x

x

x

x

x

x


3. Solve the following transportation problem :

	
	D1
	D2
	D3
	D4
	Supply

	O1
	4
	3
	0
	5
	24

	O2
	1
	2
	6
	1
	17

	O3
	2
	6
	2
	3
	19

	Demand
	15
	19
	18
	8
	


R÷Ç uµ¨£mkÒÍ ÷£õUSÁµzx ¤µa\øÚø¯ wºÄ ö\´.

	
	D1
	D2
	D3
	D4
	AÎ¨¦

	O1
	4
	3
	0
	5
	24

	O2
	1
	2
	6
	1
	17

	O3
	2
	6
	2
	3
	19

	÷uøÁ
	15
	19
	18
	8
	


4. Define a network. Explain the rules for drawing network diagram.

Áø»¯ø©¨¦ ÂÁ›. Áø»¯ø©¨¦ Áøµ£h® ÁøµÁuØPõÚ Âv•øÓPøÍ ÂÍUSP.

5. Explain the operating characteristics of queueing systems.

Á›ø\ •øÓ°ß |øh•øÓ ]Ó¨¤¯À¦PøÍ ÂÍUSP.

PART B — (4 ( 15 = 60 marks)

Answer any FOUR questions.

6. Solve the following LPP by simplex method.
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R÷Ç öPõkUP¨£mkÒÍ LPP I ‘SIMPLEX’ •øÓ ‰»® wºÄ Põs.

Minimize 
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7. Solve the following assignment problem :

	
	1
	2
	3
	4

	A
	9
	26
	17
	11

	B
	13
	28
	4
	26

	C
	38
	19
	18
	15

	D
	19
	26
	24
	10


R÷Ç öPõkUP¨£mkÒÍ JxURmk¨ ¤µa\øÚø¯ wºÄ Põs.

	
	1
	2
	3
	4

	A
	9
	26
	17
	11

	B
	13
	28
	4
	26

	C
	38
	19
	18
	15

	D
	19
	26
	24
	10


8. Explain the classification, solution procedure and the distributions followed by Queueing models.

Á›ø\•øÓ Aø©¨¦ •øÓ°ß ¤›ÄPÒ, wºÄ •øÓPÒ Auß \õº¦PÒ £ØÔ Â›ÁõP ÂÍUPÄ®.

9. What is critical path? What are the main objectives of CPM? Explain Critical Path Method.

wºÄ¨£õøu GßÓõÀ GßÚ? wºÄ¨£õøu°ß •UQ¯ ÷|õUP[PÒ ¯õøÁ? wºÄ¨£õøu •øÓø¯ ÂÁ›.

10. Construct a network diagram and find the critical path, EST and LFT for the following data :

	Activities (i - j) :
	1-2
	1-3
	2-3
	2-5
	3-4

	Duration (Dij) :
	15
	15
	3
	5
	8

	Activities ( i - j) :
	3-6
	4-5
	4-6
	5-6
	6-7

	Duration (Dij) :
	12
	1
	14
	3
	14


RÊÒÍ ÂÁµ[PÐUS ¤øn¯zøu ÁøµP. wºUP £õøu, EST  ©ØÖ® LFT  PnUQkP.

	ö\¯À ( i - j) :
	1-2
	1-3
	2-3
	2-5
	3-4

	÷|µ® (Dij) :
	15
	15
	3
	5
	8

	ö\¯À ( i - j):
	3-6
	4-5
	4-6
	5-6
	6-7

	÷|µ® (Dij) :
	12
	1
	14
	3
	14


11. Solve the following game :

                                  Player A

	
	A1
	A2
	A3
	A4

	B1
	0
	3
	4
	3

	 Player B        B2
	– 1
	2
	1
	0

	B3
	3
	7
	0
	– 2


R÷Ç öPõkUP¨£mkÒÍ ÂøÍ¯õmk¨ ¤µa\øÚø¯ wº :

                         Ãµº A

	
	A1
	A2
	A3
	A4

	B1
	0
	3
	4
	3

	 Ãµº  B        B2
	– 1
	2
	1
	0

	B3
	3
	7
	0
	– 2


12. A computer service man finds that his service time is exponentially distributed with mean 30 minutes. If he gets 30 computers in a 5 day week with 8 hours per day, find the expected waiting time of the system.

J¸ PoÛ £Êx£õº¨£Á›h® 5 ÷Áø» |õmPÒ öPõsh J¸ ÁõµzvØS 30 PoÛPÒ, £Êx £õº¨£uØPõÚ Á¸QßÓÚ. AÁº |õÒ JßÖUS 8 ©o ÷|µ® £Êx£õºUS® ÷Áø» ö\´QÓõº. \µõ\›¯õP J¸ PoÛ £Êx£õºUP 30 {ªh[PÒ ÷uøÁ¨£k® GÛÀ C¢u Aø©¨¤ß \µõ\› Põzv¸US® Põ»zøu PnUQkP.
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